BE#H 2023/10/20

REX

INATIY
NSOAII
2 o il & X
2%
19994 8 &Erit

[ KEEICER AL LWV REIEWET, SR HGHREZ LS }

DEBEKRRIZEYEFEAFREMLHYET , THT T RIS,
TEEHOIHEDRIT. BFYOREXEEEMABELEHhETELY,

N5OAIL
[21A015]

F#h &5
T#h-E—45
#Es

hys ) —<EB
T4

N B L P =




BHErH 2023/10/20

1. TEEE

NS0OA

21A015




NSOA BEI#HHE  2023/10/20
21A015 1. FEEEH
X%El HRES & M= | {ZHEEMR =

1 NOO1 |F#& 1 - HERIRT
2 NO13 | HR—Fk 2 1,050
3 W063  [REATUTERILE (M6 % 20) 4 150
4 WG06 |I[ThES (6) 4 150
5 WI1C |FES (6) 4 150
6 NO57 |[HR—bhH5— 4 330
7 Fk (M6) 4 150
8 ATV GEY (6x12) 2 150
9 N035 |5/ \— 1 1,050
10 W252 [~ /pRl (M5 x 10) 7 150
11 N038 |#&EHF 1 - AR T
12 W083  [ARAFUTERILE (M8 X 25) 2 150
13 N034 [E#R 1 2,080
14 4005 |EEAZIL 2 - HERIRT
15 WL41  |[RTYUHEY (4% 10) 4 150
16 N045  [Rh—RH/\— 1 570
17 WW16 [CRZIE&OE (B FH16) 1 150
18 WX16  |CHZEILME&ER (16) 1 150
19 N039 |[AAILFrvT 2 150
20 NANTEIEDHRL (M8 x 14) 4 150
21 WA46 |55 (R1/2) 1 420
22 N048 |AkL—F 1 1,050
23 N049  [RbL—FiK—A555R 55mm7R 1 360
24 WA55  [ZayE Rl (M5 % 8) 1 150
25 T056  |$F5%#EF 1 700
26 ZJ50 |[TR—R/\UK (10mm) 2 210
27 N624 [l 1 2,080
28 NO30 (B Y k& 1 2,080 IR T
29 N029 |EERFvYT 1 700
30 NO31 [U1¥%2 1 4,160
31 7021 OJ—KJva 1 590
32 7098  |C-154K)L 1 150
33 w242 [~ /phRL (M4 x 10) 2 150
34 NO41  [RAYF/\yFx> 1 410
35 NO08 |RAYF 1 5,550
36 W4A9  |FLI/hl (M4x12) 2 150
37 N036 | HAFKH/N— 2 700
38 N042 | HAFKH/N——)L 1 360
39 N058 |[R—LTL—k 1 -
40 WN34 |8R (4%5) 2 150
41 W245  |[IgR/phAal (M4 x 20) 1 150
42 Fvbk (M4) 1 150
43
44
45
46
47
48
49
50

N181 [ 2 h/i— 1 5,550




N50A B H 2023/10/20
21A015 2. X #h-E—AER

e AYA—ILEHEAT

QOW® #HiEHY
B2
BT

\

7\’7n—)b|5947° - o




NS50A BEFHE  2023/10/20
21A015 2. X8l FE—2ER
REF| HRES o A HE| 1ZLERE W E

1 02N4 Fah— 15 - AR T
2 N080 DR e 1% 1 20,790
3 N006 Frv)—= (K-S) 1= 76,230
4 NHOO  [FyvI&RIK 1 31,190
5 NOCJ FyvIEIN 148 20,100 34148
6 70KS SEFvT 1= 12,480
7 NS00 [@TR&ZO—)L 1 15,250
8 4011 #ERoO0—)L—= 1= 27,720 g8
9 40S3 #xy0—)L 1 11,790 HEAIR T
10 40S1 40— 1 8,320
11 40S2 20— )LAHN— 1 5,550
12 NOSS [R&B—)LTt 148 5,550 34148
13 )—RJLE (M5 X 15) 2 150
14 HEANINRL (M5 % 15) 4 150
15 WG05  |[FHESR (5) 4 150
16 bk (M5) 6 150
17 WM62  |iE&fEY (6% 12) 3 150
18 NO09 E—4 (100V) 1 - HEGHE T
19 NM16  |h—RIRILE 2 2,550 gk T
20 NM10  |[h—Ro TS5 148 2,550
21 NM17  |h— R FvvT 2 820
22 9010 FANKRT VELPAYAERE] 1 13,860
23 1035 aq ok 2 290
24 ZJ50 R—RINUR (10mm) 2 210
25 M Hik—27205F 720mm7R 1 1,050
26 Ik A—Z3807R 380mmR 1 1,050
27 W062 FNATUTRILE (M6 % 16) 3 150
28 WG06 [FhEE (6) 3 150
29 WOSN  [/REIFUTERILE (M8 x 45) 4 150 Ay 14
30 WG08  |[FhES (8) 4 150
31 RS (8) 4 150
32 F153 FrJ A4 va—F—= 1= 6,930
33
34 NATTERILE (M7 X 54) 6 150
35
36
37
38
39
40

4081 T—ARFTHE T3 1 1,050




BHErH 2023/10/20

3. FESHR

NS0OA

21A015

OO .

/

g

e @@0@@.

i




NS0A BB 2023/10/20
21A015 3. E1EEED

MZE| HBRAES m A WE| FEHEM =

1 No10 |F8& HRE-10D AN | 1 20,790 fitiair T

2 NO11  [Z/S1TA 1 - BT

3 NO12 |%/347B 1 6,930 | {H#AKET

4 NO81 |&H&EHT— 1 840

5 NO14 |3EYU/\URIL 1 4,050 | {HEARRT

6 A515 [EYEE 1 4,160

7 WH20 |FES (20) 1 150

8 9018  [EREEEALEHHT— 1 700

9 W256 |G~/ (M5 x 30) 1 150

10 NO44 |Fzvx/NLT 1 4,160

11 ZJ50 |FR—R/\UKR (10mm) 1 210

12 W665  [AREINFELEDHRL (&EHSY) FEME X 15) 1 150

13 Fuk (M6) 1 150

14 NO32 [FAA~AvRHZ 1 570 iR T

15 NO37 [t 1 360

16 9056 [h5— 1 150

17 Wie3 |FEES (6X19X1.6) 1 150

18 w063  |/RAEIUTERILE (M6 x 20) 1 150

19 1076  |[AvEZEY 1 420

20 1096 |U—<HRILF LLHEY 1 290

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36




N50A B H 2023/10/20
21A015 4. 5v%5-1)—<E}




NS50A BE#HHE 2023/10/20
21A015 A1) —<ER
REF| HARES fn WE| {ZEEER HmE
1 ONCTPS [Av4—= 1= 31,190
2 N020 |hvuAJL—LA 1 16,170
3 4067 PR REN 1 8,320
4 PM43  [AvBN\VEIL 1 3,470
5 N023 APE S 1 5,550
6 135076 |hv4HA 1 - & ik
7 5074 hvF0—5 2 700
8 9025 APEIESE) 1 210
9 WN12 |EIEY (2.3%15) 3 150
10 5079 HyFEV(K) 2 360
11 9027 HAREY 1 210
12 4072 hyRAIL—LIEEY 1 210
13 2471 HyREL (58) 1 360
14 5075 a—>% NEEER 2 5,780
15
16
17
18
19
20
21 ONRTPS |[|!)—<—= 1= 25,410 [H OSRM1S AR T
22 PMK5 |)—<hRILA 1 11,090 I[H RY28 #t#5#&T
23 N027 )—<iEY 15 4,390 BT
24 PM38 [)—<F 1 12,480
25 WL87 [RTYLTEY (8 % 45) 1 150
26 WL59 |RTYLTEY (5% 45) 1 150
27 5096 ) —3HRILA (E4a (8% 10) 1 150
28 WQO08 | Bk (8) 1 150
29 WL8e [RTYLTEL (8% 35) 1 150
30 WL57 |RTYLTEY (5% 35) 1 150
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50




NS0A

21A015

5. E—AEREH

EHH

2023/10/20

NE| SBBeES A BE| LR W=
1 NM25 /NP g 1 - HEGR T
2 NM05 |RT—42(100V) 1 - e T
3 W25A  |Ta~/hRl (M5 X 60) 2 150
4 NMO1 | Z<Fa7(100V) 1 - HEERT
5 S701  |RNF7YLy (620022) 3 640
6 1202 |R7YLY (620122) 4 950
7 NM16  |h—7RIRILS 2 2,550 HEHRT
8 NM10 |h—FR2TS5 (2+148) 148 2,550
9 NM17  |h—RoFeyT 2 820
10 NM15 |RbyTTL—b 2 590 HiaRT
11
12
13 NM20 |tEhAVKREZA>-Fvtvyk 148 11,320 g T
14
15
16 NM22 |[H—KRE=A4>-F¥tvyk 148 — ISR T
17 NM24 | D+—REZ#A U (E—FRXEVE)L) 1 6,930 G T
18 FAF— 1 150
19 IM30  [(RFPYLy (630422) 1 2,030
20 NM23 | —KXy 1 6,300
21 NM26  |F¥Hh/\— 1 16,170 HEAIRT
22 NM28 (A F—H/\— 1 16,170 HigHR T
23 W25A [ x/hRU (M5 x 60) 2 150
24 W255 |fE~ihhl (M5 x 25) 5 150
25 WG06  |[FHafES (6) 7 150

NM14 |Y—KJA¥tyk (F.BEBIX) 148 1,050
(Fr:h=K Uk @ AT, F h—K Uk SAT7-%)




